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Insienctions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the followmg LR :
3. Hlustrate your answers with neat sketches; dxagram etc wherever necessary
4. If some part or parameter is noticed to be mlssmg, you may approprlately
Assume it and should mention it clearly. ~ 70 ot w0

(Marks)

(.7 Nlustrate any three with an example ¢ 0o o0 000 e oo (3x4=12)
=} Half section Stk o€), - Broken section
1) Removed scction o0 o) Auxiliary section
.2, Attempt any two of the following (12)
1) Draw the symbol of the following (6)
1. concave fillet-weld
2. convex-double ' V-butt weld S
b) Draw conventlonal representation for the o) .
Spur gears in mesh
2 Roller bearing
¢} Draw necat sketeh in'two views of a ﬂanged couplmg (6)
1.3, Attempt any two of the following < (12)

a) Awettical cylinder of 75 mm diameter is penetrated by another cylinder of 50 mm diameter.
" The axifs of which is parallel‘to both HP & VP. The two axes are 9 mm apart. Draw the

prOJecu ol two cylinders showing curves of intersection. The length of both cylmders is

S 100 mn. - ) ’ (6)

by A-vertical squznc prism-of side of base 40 mm axis height 75 mm has its faces equally
iri’clinec! with"V:P. A cylinder of diameter 40 mm and length 75 mm intersects the prism
~horizontally such that its axis is perpendicular bisector to the axis of vertical square prism.
The plane’ containing both the axis is parallel to V.P. Draw the projections of solids

“showine curve of intersection. 6)
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¢) A cone with base diameter 70 mm & axis height 65 mm is kept on HP"éh’its‘ basé“ V\lt 15, -

penetrated by a horizontal cylinder of diameter 35 mm with its axis paralld tor VP oCus

intersecting axis of cone at distance of 20 mm above base of cone. Draw pro Jectlon of solid

S

and curve of intersection.

Q.4. Attempt any two of the following (12)

a) State the meaning of following symbol as shown in Fig.
Milling
40
25
s\ /L
/SIS LA
b) State the advantages of Computer Alded Desngn and Drafting:” g )
¢) A shaft and hole are givenas.. S 5 (6)
+0.280° o oo 40,090 SN
Shaft 50+0 120 : | “ A “ Hible‘sour0.000
Determine; . o 0T |
(1) Max1mum allowance S (ii)Minimum allowance (iii) Type of fit
Q 5. F1g shows assembly of Pedestal Bearmg Draw detailed drawing of the following.
a) Body , < (4)
b) Brass 4
¢) Cap C))
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Q.6. Figure shows the details of 125 mm Steam Valve. Draw the assemifoc il sectional elevat'i\“o;\_i\ 2)

7O Centie Lines, e
- On204, POD

)**(‘p‘aper end

C7B584B90AG6F2E4613757ABODIFF85AS



